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Note : Four possible answers A, B, C and D to each queslion are given. The choice which you
think is correct, fill that circie in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

The leader of Neo-Classical school of thought was : : H"HJ(/G‘J’LE $7] 11
Robbins ;L (D) Marshal LE:I. (C) Keynes )':r {B) Ricardo 13,6 (A)

The other name of micro-economics is : fe bl u.-:a_L.-'}Lr*aL}’.’ 2
Theory of income and empioyment J{}JJJL}.& iy /5] (B) Price theory ...':-E:rﬂ {A)
Applied economics .::.e{._r'"b‘f.:::l.lb’ (D) Welfare ecenomics =\~ J i (C)

When total utility is maximum, then marginal utility is : 3 FLt':wl.il.‘;‘? ;r_ rﬁa:L}::,u_i,ju-Li!.ﬁ_..e 3

infinite 220 (D) Zero # (C) Negali\regf} (B) Positiveiad (A)

== : = (o ;
The shape of indifference curves is : K ‘.;.d,fd"-‘u f:_.‘(ﬁby‘" 4

Horizontal J" I (D) Vertical $2#f (C) Concave /2 (B) Convex o (A)

4x = TX + 2, equation is : fewmhledx =Tx+2) O

Function J*¥ (D) Cubic J.0~ (C) Quadratic 5z (B) Linear G2t (A)

Due to rise in demand, the demand curve shifts to : : g,bxup'.gbi'zic_ a::i'.._,ﬂ’ 6

Downwards {7 (D)  Bothsides 3 AUM (€) | Lefwards ,_I_'flo. (B) Rightwards [ I (A)

The cross elasticity of substitutes is : .;_Jm_g (',j;’ Le"‘Jd:_IﬁU.Jir" 7
Infinite 114U (D) . 2Zero > (C) Negative .}V (B) Positive =+ (A)

The cause of expansion and contraction of supply is : = q_.;-;J il }-C‘uli LE-{LJ-—'.: 8

Price =4 (D) IncOne Y47 (C) Technology J.#t£ (B) Population (5347 {A)

The long-runsupply curve is . : ‘Lbﬂrxkiuﬂd.f;,f # 8
Zero elastic ;Lagf‘ (D) Inelastic ,.!,;g ,q,’ {C) More elastic :',»g 0k (B)  Less elastic ,-Lsgrr (A)
When supply increases at constant demand, then price : : ‘LSK.:',-E ;Fé...i.gm:yy.:{_.-ﬁd( 110
Becomes infinite ».4°l (D) Beccmes zero # (C) Increases o3L; (B) Decreases [f (A)
The reward of capital is called : P SR I
Profit &t (D) nterest 5+ (C)  Rentwd (B)  Price =d (A)
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Investors in joint stock company are called ; v L. W/Lhi.fdﬁéyg,ﬂﬁ;@ff’ 12
Organization r'-'b ? (D) Directors ;}{jl; (C)  Sharehoiders /2 (B) Members i (A)

The law of decreasing retuns applies on : : lLt‘m'l’JEU“LpJFJ :-,rfﬁ' 13
Housing ,;.:J/;p (D}  Trade {.::.;L_? (C) Agriculture s =#1; (B) Industry 7= (A)

Other name of laws of returns is : c ::_I*ELA:KJ'wafI; 14
Law of increasing returns J iyf% i (B) Law of diminishing marginal utility ﬁ,md_:w :;F:? ¥ {A)
Laws of cost 1S (D) Law of decreasing retums J‘u-.):*";nia (C)

Long run average cost curve is : ;‘:..t'xhié’_i;u‘LasFKu:?.rf 15

V-shaped Li§s (D)  S-shaped Li_@) {C) Saucer shaped Lf'd}‘% (B) U-shaped Li¥ (A)

Under monopaly , firms are equal to : : q.&:s:iﬁgrur).:fhid;hu{gl 16

Foursp (D)  Three o (C)  Two s (B) One {1 (A)
When total revenue in monopoly is maximum, then marginal : q_g:’mdr‘.-,?":"’.?ﬁnpc. u_l,}dﬂu_ﬂx.’d)lmtgl 17
revenue is : )
Same UL (D) Negative d"' (C) Zero / (B) Positive =% (A)
Under perfect competition demand of commedity is : _ ] ‘LJ::JJ& .:.5-5,-@5"); 18
More elastic .rbg nli (B) Less eiastic.: .ai,.,g fﬂ (A
Inelastic AE4 (D) Pertect elastic s¥ F©
Responsibility of profit and loss is accepted by : : %?fdﬁdﬂ)—&.‘fﬁjhﬁ}g 19
Entrepreneur ) t (D) Capital 4l (C) Labour = (B) Land o&J (A}
Quasi-rent belongs to : : g.t'ﬁJw Kuihliet Eﬂ

Long-ruy@FILPNB)  Shortun < s (A)
One yeaffe- JL{i (D)  One month c-sbfl (C)
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( Part-1 Jiﬁm)

16 2. Write short answers to any Eight { 8 ) questions :
(i} Write two impartant fields of sociology.
(if) What is meant by industrial sociology?
{iii} What is meant by pure / basic socialogy?
{i¥) What is meant by physical / natural science?
{v} Why saciclogy is a social science?
{vi} Write the role of sociologist in the field of heallh.
{vii}) Define social interaction.

(viil} Describe two main differences between social
action and social interaction.

{ix} Describe two forms of social interaction.
(X) What is meant by primary group?
{xi) Write two characteristics of informal group.
{xii) Define focal group.
16 3. Write short answers to any Eight { B } questions ¢
(i) What is achieved status?
(i} Define sacial role.
{iil) Write two results of role@onflict.
{iv) Define laws,
{v) Write the importance bf mores.
{vi) Definessocialsanctions.
(vii) Give éxamples of informal social sanctions.
{viii} Write two functions of social values.
{ix)Explain value confiict.
{x}) Define society.
(xi} Write any two elements of society.

(xii} Write two features of traditional sociely.
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18 4. Write short answers to any Nine { 9 ) questions :

(i) Define aceulturation.
(i) Define invention.
(iii} write two demerits of ethnocentrism,
(iv) Define religious institution.
{v) Define matrilocal family
(vi} Define economic institution.
(vii) Define informal education.
(viii) write two name of political institutions.
(ix} Define social class.
(x) Write two features of caste.
(x1) Define geographical mobility.
(xii) Write two social changes in Pakistani society.

{xiii) Write two hurdles in social change.
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10 5. Sociology is  science. Explain with arguments.

10 6. Define status. Also explain its different types

10 7. Explain the steps to attain social contral,

10 8. write difference between modern and traditional societies.

10 9. Describe cultural change. Also wrtte its factors.
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